	Desinencias del Verbo eivmi,

	 
	
	Presente
	Imperfecto
	Futuro

	Indicativo
	1s
	eivmi,
	h;mhn
	e;somai

	
	2s
	ei=
	h=j
	e;sh|

	
	3s
	evsti,$n%
	h=n
	e;stai

	
	1p
	evsme,n
	h=men
	evso,meqa

	
	2p
	evste,
	h=te
	e;sesqe

	
	3p
	eivsi,$n%
	h=san
	e;sontai

	Subjuntivo
	1s
	w=
	
	

	
	2s
	h|=j
	
	

	
	3s
	h|=
	
	

	
	1p
	w=men
	
	

	
	2p
	h=te
	
	

	
	3p
	w=si$n%
	
	

	   Imperativo
	2s
	i;sqi
	
	

	
	3s
	e;stw
	
	

	
	2p
	e;ste
	
	

	
	3p
	e;stwsan
	
	

	Infinitivo
	ei=nai
	
	

	Participio
	smn
	w;n
	
	

	
	smg
	w;ntoj
	
	

	
	sfn
	ou=sa
	
	

	
	sfg
	ou;shj
	
	

	
	snn
	o;n
	
	

	
	sng
	o;ntoj
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	sng
	o;ntoj
	
	


